Journal Homepage: <u>https://wjps.uowasit.edu.iq/index.php/wjps/index</u> e-ISSN: 2790-5241 p-ISSN: 2790-5233



Closed-Small Submodules and Closed-hollow Modules

Esraa H. Yahyaa¹, Sahira M Yassen²

¹First Author Affiliation, Department of mathematics / College of Science/ University of Baghdad, IRAQ. esraahashim12345@gmail.com¹

²Second Author Affiliation, Department of mathematics / College of Science/ University of Baghdad, IRAQ Sahira. mahmood@gmail. com ²

*Corresponding Author: Esraa H. Yaseen

DOI: https://doi.org/10.31185/wjps.240 Received 6 August 2023; Accepted 30 September 2023; Available online 30 December 2023

ABSTRACT: The aim of this study is to present the concept of closed-small submodule and closed-hollow module as generalization of small and hollow concepts respectively. As evidence, attributes of these ideas. Moreover, we study the concept of the closed-Radical of M as a generalization of Radical module M.

Keywords: Small submodule, closed-small submodule, hollow module, closed-hollow module, not closed-maximal (nc - maximal), closed-Radical of module M.



1. INTRODUCTION

Let *R* is any ring with identity and *M* be a unitary left *R*-module. A proper sub-module *N* of an R-module *M* is called small $(N \ll M)$, if for any sub-module *K* of *M* that away M = N + K there are K = M [1]. A proper sub-module is referred to be a hollow module if each of its proper sub-modules is small in *M* [2]. A sub-module *N* is essential in *M* $(N \le_e M)$ if for any $X \le M, N \cap X = 0$ Implies X = 0 [1]. Recall that the sub-module N of an R-module *M* is called closed if *N* is not properly extended inside *M*, which is the only solution of the relation $N \le_e K \le M$ is K = M [2].

In the study of many subjects has excited the curiosity of many authors of generalizations of small sub-modules See [3], [4], [5], [6], [7], [8], [9]. As in [3], we will use closed sub-module to introduce a new generalization of small sub-module namely closed-small sub-module. That allows us to introduce a closed-hollow module as an extension of hollow module.

Which essay, we discuss some basic of these properties in relation of hollow module. In the last section, we introduce and study the concepts of closed-maximal sub-module and closed-radical of M.

2. CLOSED – SMALL SUB MODULE

This section introduces the idea of a closed-small submodule as a generalization for the small sub-module notion. Also, we study an important property of this submodule type.

Definition (2.1): A proper sub-module *N* of an R-module *M* is called closed-small (c-small) sub-module $(N \ll_c M)$, If N + K = M where *K* is a sub-module of *M*, then *K* is a closed sub-module in *M*. Or a proper sub-module *N* is a closed – small of *M* if for every not closed sub-module *K* of *M*, $N + K \neq M$.

Remarks and Examples (2.2):

- 1- Since M is closed in M hence every small sub-module is closed- small, but The opposite is untrue, like the example below : In Z₆ as Z-module, {0, 3} is closed-small in Z₆, since {0, 3} + {0, 2, 4} = Z₆ and {0, 3} + Z₆ = Z₆ and {0, 2, 4}, Z₆ are closed in Z₆.
- 2- If *M* is semi simple, then every proper submodule of *M* is closed-small.
- 3- In Z_{12} as Z-module, $\{\overline{0}\}$, $2Z_{12}$, $4Z_{12}$ are closed small, since $2Z_{12} + 3Z_{12} = Z_{12}$ and $2Z_{12} + Z_{12} = Z_{12}$ such that $3Z_{12}Z_{12}$ are closed in Z_{12} , similarly $4Z_{12} + 3Z_{12} = Z_{12}$ and $4Z_{12} + Z_{12} = Z_{12}$, but $3Z_{12}$ is not closed-small, since $3Z_{12} + 2Z_{12} = Z_{12}$ and $2Z_{12}$ is not enclosed in Z_{12} .
- 4- In Z_8 as Z-module, $\{\overline{0}\}$, $2Z_8$, $4Z_8$ are closed-small, since $2Z_8 + Z_8 = Z_8$ and $4Z_8 + Z_8 = Z_8$ and Z_8 is closed in Z_8 .
- 5- In Z_{24} as Z-module, since $(\overline{0})$, $(\overline{6})$, $(\overline{12})$ are small submodules so are closed-small, also $(\overline{2})$ and $(\overline{4})$ are closed-small since $(\overline{2}) + (\overline{3}) = Z_{24}$, and $(\overline{2}) + Z_{24} = Z_{24}$, similarly $(\overline{4}) + (\overline{3}) = Z_{24}$ and $(\overline{4}) + Z_{24} = Z_{24}$ and $(\overline{3})$ is closed in Z_{24} .

In the following propositions we give a property of closed-small submodule.

Proposition (2.3): Let N and K are sub-modules of a module M such that $K \le N \le M$, if $N \ll_c M$, then $K \ll_c M$. **Proof:** If U is a sub-module of M such that K + U = M. since $K \le N$, then N + U = M and since $N \ll_c M$, then $U \le_c M$ and hence $K \ll_c M$.

Corollary (2.4): Let *M* be an R-module such that $K_1 \ll_c M$ or $K_2 \ll_c M$ then $K_1 \cap K_2 \ll_c M$

Proof: If $K_1 \ll_c M$, and since $K_1 \cap K_2 \leq K_1 \leq M$ then from Proposition (2.3), we have $K_1 \cap K_2 \ll_c M$.

Corollary (2.5): Let K_1, K_2 are submodules of an R-module M, if $K_1 + K_2 \ll_c M$ then $K_1 \ll_c M$ and $K_2 \ll_c M$.

Proof: Since $K_1 \le K_1 + K_2 \le M$, and $K_1 + K_2 \ll_c M$, then from proposition (2.3), we have $K_1 \ll_c M$. similarly, $K_2 \ll_c M$.

Proposition (2.6): If *M* is an R-module and *K* and *N* are its sub-modules, such that $K \le N \le M$ if $N \ll_c M$, then $\frac{N}{K} \ll_c \frac{M}{K}$.

Proof: Let $\frac{W}{K}$ be a sub-module of $\frac{M}{K}$ such that $\frac{N}{K} + \frac{W}{K} = \frac{M}{K}$, and hence N + W = M, we have $W \leq_c M$, then $\frac{W}{K}$ is closed in $\frac{M}{K}$ by [2].

Proposition (2.7): Let $f: M \to N$ be an isomorphism, if M and N are R-modules, such that $K \ll_c M$, then $f(K) \ll_c N$.

Proof: Let W be any sub-module of N such that f(K) + W = N for some $W \le N$. thus $f^{-1}(f(K)) + f^{-1}(W) = M$, so $M = K + f^{-1}(W)$ but $K \ll_c A$, then $f^{-1}(W)$ is closed and since f is isomorphism then by [7] $f(f^{-1}(W)) = W$ is closed, so $f(K) \ll_c N$.

In [10] the closed intersection property is a property of an R-module M (CIP), if any two closed submodules of M intersection are once again closed.

Proposition (2.8): Let *M* be an R-module with property at closed intersections where *A* and *B* are sub-modules of *M* such that $B \le A \le M$, and *A* is the direct summand of *M*, if $B \ll_c M$, then $B \ll_c A$.

Proof: Suppose a sub-module of *M* is *U* such that B + U = A. Since *A* direct summand of *M*, then $M = A \oplus V$ where *V* be a sub-module of *M*, so A + V = M, then (B + U) + V = M, hence B + (U + V) = M, and since $B \ll_c M$, then $U + V \leq_c M$. So $(U + V) \cap A \leq_c M \cap A = A$, hence by modular law, we have $U + (V \cap A) \leq_c A$, and since $A \cap V = 0$, then $U \leq_c A$ and hence $B \ll_c A$.

Proposition (2.9): Let *M* be an R-module and if *M* has *CIP* and A_1, A_2 are submodules of *M*, such that $A_1 \ll_c M$ and $A_2 \ll_c M$ then $A_1 \oplus A_2 \ll_c M$.

Proof: (\Rightarrow) Assume U be sub-module of M where that $A_1 + A_2 + U = M$. Since $A_1 \ll_c M$ and $A_2 \ll_c M$, then $A_2 + U \leq_c M$ and $A_1 + U \leq_c M$, so we have $(A_1 + U) \cap (A_2 + U) \leq_c M$ by (CIP), hence $U = (A_1 + U) \cap (A_2 + U) \leq_c M$, so $U \leq_c M$ and hence $A_1 \oplus A_2 \ll_c M$.

(\Leftarrow) Since $A_1 \leq A_1 \oplus A_2 \leq M$ and since $A_1 \oplus A_2 \ll_c M$, then from Proposition (2.3) we have, $A_1 \ll_c M$, similarly we have $A_2 \ll_c M$.

Proposition (2.10): Let M be an R-module, such that $M = M_1 \oplus M_2$ and $R = Ann(M_1) + Ann(M_2)$, then $A_1 \ll_c M_1$ and $A_2 \ll_c M_2$ iff $A_1 \oplus A_2 \ll_c M_1 \oplus M_2$.

Proof: (\Rightarrow) Assume *U* be a submodule of *M* such that $A_1 \oplus A_2 + U = M$. Since $\mathbb{R} = Ann M_1 + Ann M_2$, then $U = K_1 \oplus K_2$ for some $K_1 \leq M_1$ and $K_2 \leq M_2$ then $A_1 \oplus A_2 + K_1 \oplus K_2 = M_1 \oplus M_2$. So $(A_1 + K_1) \oplus (A_2 + K_2) = M_1 \oplus M_2$

and hence $A_1 + K_1 = M_1$ and $A_2 + K_2 = M_2$ and since $A_1 \ll_c M_1$ and $A_2 \ll_c M_2$, then $K_1 \leq_c M_1$ and $K_2 \leq_c M_2$, then $K_1 \oplus K_2 \leq_c M_1 \oplus M_2$, and hence $U = K_1 \oplus K_2 \leq_c M_1 \oplus M_2 = M$, so $U \leq_c M$ and hence $A_1 \oplus A_2 \ll_c M_1 \oplus M_2$. (⇐) Let $A_1 \oplus A_2 \ll_c M_1 \oplus M_2 = M$, since $A_1 \leq A_1 \oplus A_2 \ll_c M_1 \oplus M_2 = M$ then by Proposition (1.3) we have,

 $A_1 \ll_c M$ and since $A_1 \leq M_1 \leq M$ and M_1 is direct summand of M then by Proposition (2.8), $A_1 \ll_c M_1$. Similarly, we have $A_2 \ll_c M_2$.

Definition (2.11): [11] An *R*-module *M* has the name faithful module if Ann(M) = 0.

Definition (2.12): [12] The R-module When N is a submodule of M and there is an ideal I of R such that N=IM, M is referred to as multiplication.

Lemma (2.13): Let M be a faithful and multiplication module, I in R is closed if and only if IM is closed submodule in RM.

Proof: Assume that $IM \leq_e L \leq RM$ since M is multiplication then L = TM, T is an ideal in R, now $IM \leq_e TM \leq$ RM, M is faithful multiplication, so $I \leq_e T \leq R$ but \overline{I} is closed in R, so I = T.then IM = TM.so IM is closed submodule in RM.

 \leftarrow) Assume that $I \leq_e T \leq R$, since M is faithful multiplication [12], so $IM \leq_e TM \leq RM$, where TM = IM, so T =*I* then *I* is closed in *R*.

Proposition (2.14): Let *M* be an R-module, If I be an ideal of R and is faithful, finitely generated, and a multiplication module, then $I \ll_c R$ iff $IM \ll_c M$.

Proof: (\Rightarrow) Let $I \ll_c R$ we must provide evidence for this $IM \ll_c M$. Let K be a submodule of M such that IM + IMK = M, M being a multiplication, then K = UM, U is an ideal of R for A. then IM + UM = M hence (I + U)M = MM and so, (I + U)M = RM and since the A module for multiplication, M is faithful and finitely generated. Then we have $I + U = \mathbb{R}$ by [9], since $I \ll_c \mathbb{R}$ then $U \leq_c \mathbb{R}$ hence $UM \leq_c M$ by lemma (2.13), so $K \leq_c M$ hence $IM \ll_c M$. (\Leftarrow) Let $IM \ll_c M$, we must prove that $I \ll_c R$. If J were the ideal for R, then I + J = R, since M is multiplication, then IM + JM = RM and hence IM + JM = M, and since $IM \ll_c M$, then $JM \leq_c M$, so $JM \leq_c RM$ and we have $J \leq_c R$ by [12] and hence by (2.13), $I \ll_c R$.

Proposition (2.15): Let K be a submodule of an R-module M, Consequently, the following are equivalent.

- 1- $K \ll_c M$
- 2- If K + X = M, then X is a relative complement for some $A \le M$
- 3- If K + X = M then for any sub-module B of M, so that $X \le B \le_e M$ then $\frac{B}{X} \le_e \frac{M}{X}$.

Proof: (1) (\Rightarrow) (2), Let X + K = M and $K \ll_c M$, thus $X \leq_c M$ then by [2] X is relative complement for some $A \leq M$ Μ.

(2) (\Rightarrow) (3), since $B \leq_e M$ then $\frac{B}{X} \leq_e \frac{M}{X}$ by [2]. (3) (\Rightarrow) (1), Let K + X = M, since $\frac{B}{X} \leq_e \frac{M}{X}$, so by [2] $X \leq_c M$, thus $K \ll_c M$. **Proposition (2.16)**: Let $f: M \to N$ be an isomorphism where M and N be an R-modules such that $K \ll_c N$, then $f^{-1}(K) \ll_c M$.

Proof: Let A be any submodule of M such that $f^{-1}(K) + A = M$ for some $A \le M$ thus $f(f^{-1}(K)) + f(A) = f(M)$,since f is isomorphism so N = K + f(A), but $K \ll_c N$, then f(A) is closed in N, so $f^{-1}(f(A)) \leq_c f^{-1}(N)$, implies that $A \leq_c M$.so $f^{-1}(K) \ll_c M$.

3. CLOSED – HOLLOW MODULES

In [13], [14], [15] various writers provide the definition of hollow modules and semi hollow modules, e-Hollow module and large-hollow lifting module. In the same way give the following definition of closed-hollow. **Definition** (3.1): The *R*-module *M* is called closed-hollow module if every proper sub-module of *M* is a closed-small in M.

Remarks and examples (3.2):

- 1- Each hollow module is a closed-hollow module because every small is a closed-small. The opposite is not true, as shown by the example below.
 - As a Z-module in Z_6 , $\{\overline{0}, \overline{2}, \overline{4}\}, \{\overline{0}, \overline{3}\}, \{\overline{0}\}$ are submodules, so Z_6 is closed -hollow, but not hollow.
- 2- Every simple module is closed-hollow, since every proper submodule is closed-small.
- 3- If *M* is semi simple, then *M* is closed-hollow module.
- 4- The Z-module Zp^{∞} is closed-hollow module.

Proposition (3.3): Let *M* be a closed-hollow has *CIP*, then M has a closed-hollow direct summand.

Proof: Let A and B be appropriate sub-modules of M, so that $B \leq A$ and A is direct summand of M. M being a closedhollow, then $B \ll_c M$, since A is the direct summand of M. Hence by proposition (2.8), $B \ll_c A$ so, A is closedhollow.

Proposition (3.4): Let M_1 and M_2 be two *R*-modules such that $f: M_1 \to M_2$ the isomorphism, so M_2 will also be closed-hollow if M_1 is closed-hollow.

Proof: Assume M_2 has a proper sub-module called A. Thus $f^{-1}(A)$ is a proper sub-module of M_1 . If not then $f^{-1}(A) = M_1$, so $f(f^{-1}(A) = M_2$ and this contradiction. Since M_1 is closed-hollow, then $f^{-1}(A) \ll_c M_1$, hence, by Proposition (2.7) we have $f(f^{-1}(A)) \ll_c M_2$, so $A \ll_c M_2$ and hence M_2 is c-hollow.

Definition (3.5): [16] A sub-module *N* of an *R*-module *M* is called invariant if for each $f \in End_R(M)$ and $f(N) \leq N$. Also is called fully invariant sub-module.

Definition (3.6): [17] If each submodule of *M* is fully invariant, then an R-module is referred to as a duo module. **proposition (3.7):** Assume that M_1 and M_2 R-modules and that $M = M_1 \bigoplus M_2$ in which *M* is a duo module and has (CIP), then *M* is closed-hollow iff, M_1 and M_2 are closed-hollow, given that $N \cap M_i \neq M_i$ for i = 1, 2 and $N \leq M$. **Proof:** (\Rightarrow)Clearly by Proposition (3.3)

(⇐) Let *N* be a proper submodule of *M* and M_1 , M_2 are closed-hollow. *M* being a duo module, then $N = (N \cap M_1) \oplus (N \cap M_2)$, hence $N \cap M_1$ and $N \cap M_2$ are proper submodules of M_1 and M_2 , also since M_1 and M_2 are closed-hollow, then $N \cap M_1 \ll_c M_1$ and $N \cap M_2 \ll_c M_2$, so by Proposition(2.10), we have $(N \cap M_1) \oplus (N \cap M_2) \ll_c M_1 \oplus M_2$ and hence $N \ll_c M$.

4. CLOSED – RADICAL OF M

In this section we introduce a closed-maximal submodule and closed-Radical of M with some of its properties. **Definition (4.1):** A proper non-closed submodule N of M is called non-closed-maximal (*nc*-maximal) submodule of M if $N < K \le M$ where K any submodule of M. Then K = M.

```
Remarks and examples (4.2):
```

1. Every *nc*-maximal submodule is a maximal submodule.

Proof: Let *N* be any *nc* –maximal submodule of *M* such that $N < W \le M$ then W = M.

As shown by the example below, the opposite is not true. In Z_6 as Z-module. $(\overline{2})$, $(\overline{3})$ are maximal submodule of Z_6 but are not *nc*-maximal submodule of Z_6 since $(\overline{2})$, $(\overline{3})$ are closed-submodules of Z_6 .

- 1. In Z as Z-module every non-zero proper sub-module is a non-closed then every maximal submodule is nc-maximal, thus every nZ, where n is a prime integer is nc-maximal.
- 2. If *M* is semisimple module, then *M* has no *nc*-maximal.
- 3. Every proper non-zero of $Z_{P\infty}$ is non-closed and $N < W \leq Z_{P\infty}$ where $W \leq M$, so $Z_{P\infty}$ has no *nc*-maximal submodule.
- 4. In Z_4 as Z-module: $\{\overline{0}, \overline{2}\}$ is *nc*-maximal submodule in Z_4 .
- In Z₂₄ as Z-module: (2) is nc-maximal. But (3) is not since is closed, also (4), (6), (8). Since are not maximal.
- 6. In Z_{36} as Z-module: $(\overline{2}), (\overline{3})$ are *nc*-maximal.
- 7. In Z_{48} as Z-module: $(\overline{2}), (\overline{3})$ are *nc*-maximal.
- 8. If $\frac{M}{N}$ is simple, then N is maximal sub by [20] and hence N is *nc*-maximal sub-module by (1).
- 9. If *M* is uniform, then not every submodule of *M* is *nc*-maximal, for example: *Q* as *Z*-module, *Q* is uniform $Z \le \frac{1}{2} Z \le Q$, Then *Z* is not *nc*-maximal in *Q* (since $\frac{1}{2}Z \ne Q$).

Now we introduce the definition of closed -radical of M as a generalization of Rad(M) [2] In [18], [19], [20], [21], [22], many authors study the notions of Some Results on the Jacobson Radical and the M-Radical, additionally, provide the following definition.

Definition (4.3): Assuming M is an R-module, the closed-Radical of M is represented by $Rad_c(M)$ in such a way that it is the sum of all closed-small submodules.

 $Rad_c(M) = \sum N \leq M ; N \ll_c M \}.$

Remarks and examples (4.4):

- 1. In Z as Z-module: $Rad_c(Z_6) = Z_6$, since all submodule in Z_6 are not small.
- 2. In Zas Z –module: $Rad_c(Z) = \{\overline{0}\}$, since the only closed-small submodule in Z is $\{\overline{0}\}$.

- 3. In Z_{12} as Z-module: $Rad_c(Z_{12}) = (\overline{2})$. Since the only closed-small of Z_{12} are $(\overline{2}), (\overline{4})$.
- 4. $Rad_c(Z_8) = (\bar{2}).$
- 5. Every small is closed -small then every radical of M is closed-radical of M.

As shown by the example below, the opposite is not true.: $Rad_c(Z_6) = Z_6$, but $Rad(Z_6) = (\overline{0})$. **Proposition (4.5):**

Let *M* be an *R*-module. If $f: M \to N$ is an isomorphism, then $Rad_c(N) = f(Rad_c(M))$. **Proof:** For any $L \ll_c M$, $f(L) \ll_c N$, hence $f(L) \leq Rad_c(N)$. thus $f(Rad_c(M) = f(\sum_{L \ll_c M} L) = \sum_{L \ll_c M} f(L) \leq Rad_c(N)$. Thus $f(Rad_c(M)) \leq Rad_c(N)$, Now to show $Rad_c(N) \leq f(Rad_c(M))$, Let $L \leq Rad_c(N)$, Then $L \ll_c N$ and $f^{-1}(L) \ll_c M$ by proposition (2.16) and so $f^{-1}(L) \leq Rad_c(M)$. It follows that $f(f^{-1}(L) \leq f(Rad_c(M))$. Thus $L \leq f(Rad_c(M))$. That is for each $L \ll_c N$, $L \leq f(Rad_c(M))$. Therefor $f(Rad_c(M)) \leq Rad_c(N)$. **Theorem (4.6):** $Rad_c = \cap \{N \leq M ; N \text{ is } nc\text{-maximal}\}$.

Proof: ((\Rightarrow) Suppose that $U = \sum \{ N \le M | N \ll_c M \}$. Let $L \ll_c M$ and K any not closed submodule then $L \le K$, if not K + L = M, since $L \ll_c M$, implice that K is closed in M contradiction, thus $L \le K$ and $U \subseteq Rad_c(M)$.

 (\Leftarrow) Assuming $X \in Rad_c(M)$, we must have to show that Rx is closed-small, if not

Let $\Gamma = \{B | B \text{ not closed}, B \leq M \text{ and } Rx + B = M\}$, so $\Gamma \neq \emptyset$ since Rx is not *c*-small, According to Zorn's lemma Γ has a maximal element say B_0 , claim B_0 is maximal but not closed in M. If not there exists a submodule $C \leq M$ such that $B_0 \not\subseteq C \leq M$ then $Rx + C \geq Rx + B_0 = M$, So B_0 is maximal and not closed in M. Thus $X \in B_0$, since $Rx + B_0 = M$. Thus $B_0 = M$ contradiction, so $Rx \ll_c M$ and $Rad_c(M) \subseteq U$.

6. **REFERNCES**

[1] F., Kasch, Modules and Rings, London: Academic oress, 1982.

- [2] K. R. Goodyear, Ring Theory: Nonsingular Rings and Modules. Marcel Dekkl, 1976.
- [3] A. Amira and M.Y Sahira "On Large-Small submodule and Large-Hollow module". Journal of Physics: Conference Series, vol. 1818, 2021.
- [4] Shaker F. F. and Yaseen S. M. 2020 "On essential T-small submodule and related concepts". PD. Thesis / University of Baghdad.
- [5] H. Bannon, W. Khalid, "On e*-Essential Submodule ", European Journal of Pure and Applied Mathematics, 15(1):224-226,2022.
- [6] Hala K, "R- Annihilator Small Submodules ", Iraqi Journal of Science, Special Issue, Part A, pp:129-133,2016.
- [7] E. Mustafa and W. Khalid, "On generalization of small submodule" Sci. Int. (Lahore) 30 359 365,2018.
- [8] M. Enas and K. Wasan, "On A generalization of small submodules ", Sci. Int. (Lahore), 30(3), 359-365, 2018.
- [9] A. Kabban and K. Wasan, "On Jacobson-small Submodules ", Iraqi of Journal Science, Vol .60, No.7, pp:1584-1591,2019.
- [10] H. Inaam and A. *Shukur*, "closed multiplication modules", Italian Journal of pure and Applied Mathematics 46:82-90,2021.
- [11] R. Wisbauer, "Foundations of Module and rings theory", Gordon and Breach, Philadelphia.
- [12] Z.A. Elbast and P.F. Smith, "Multiplication Modules, Communication in Algebra ",10,4.
- [13] P.M. Hama Ali, "Hollow modules and semi hollow modules ", M.S. Thesis, University of Baghdad, 2005.

[14] M. A. Inaam, H. A. Sameeah, "*e*-Hollow Modules ", International Journal of Advanced Scientific and technical Research, Issue 5, Vol 3, 2015.

- [15] A. Amira, "On large-hollow lifting modules", Published online: 20, Pages. 2739-2745, 2022.
- [16] C., Faith, "Ring modules and categories I", Springer- Ver tog, Berlin Heidelberg, New York, 1973.
- [17] C., Ozcan, "Duo modules", Glasgow mathematical journal trust, Vol .48, pp.533-545,2006.
- [18] N. Hamada and B. AL-hashimi ", Some Results on the Jacobson Radical and the *M*-Radical, *A bhath Al Yarmouk*, Vol.11. No.2A, 573-579,2002.

[19] B. Kosar, C. ", Nebiyev-Supplemented Modules ", Ondokuz Mayis Univ., Turkey, Issn 1027-3190. M.67, No 6,2015.

- [20] A. *Abdlkareem* and K. Wasan, "⊕-**RadJ** -supplemented modules ", Journal of Physics: Conference Series, doi:10.1088/1742-6596/1818/1/012203,2021.
- [21] S. Adnan and K. Wasan, "Generalized Radical Lifting Modules ", Iraqi Journal of Science, Vol. 58, No.2C, pp: 1107-1111,2017.

[22] Al-Hachami, A. K. (2017), "Orthogonal Left Derivations of Semi-Prime Rings". Journal of Generalized Lie Theory and Applications. 11.(2).